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SUMMATIVE ASSESSMENT – II 

 II

SCIENCE / 

Class – IX / IX 

Time allowed : 3 hours    Maximum Marks : 90 

 3 90 

General Instructions : 

(i) The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

(ii) All questions are compulsory.

(iii) There is no overall choice. However, internal choice has been provided in all the five

questions of five marks category. Only one option in such questions is to be attempted.

(iv) All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in

one word or in one sentence.

(vi) Question numbers 4 to 7 in Section-A are two marks questions.  These are to be answered in

about 30 words each.

(vii) Question numbers 8 to 19 in Section-A are three marks questions.  These are to be answered

in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions.  These are to be answered

in about 70 words each.

(ix) Question numbers 25 to 42 in Section-B are multiple choice questions based on practical

skills.  Each question is a one mark question.  You are to select one most appropriate

response out of the four provided to you.

(i) 

(ii) 

(iii) 

(iv) 

(v) 1 3 

(vi) 4 7 30 

(vii) 8  19 50 

(viii) 20 24 70 

(ix) 25 42 
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SECTION – A / 

1. An element X has a valency 3. Write the formula of its oxide.

3 

1 

2. Name the term which is used for the following :

(i) The left and right halves of the body have the same design.

(ii) Animal tissue differentiate from the three embryonic germ layers.

(i) 

(ii) 

1 

3. What is Smog ? 1 

4. An animal is dorsoventrally flattened, has three embryonic germ layers and is acoelomate.

Which phylum does it belong to ?  What are they commonly called ? Give one example.

2 

5. Name the causal organism of AIDS. Why a person suffering from AIDS cannot fight even

very minor infections ?

2 

6. The volume of 50g of a substance is 20cm3. If the density of water is 1 g cm3, will the

substance float or sink in water ?  Justify your answer.

50g 20 cm3 1 g cm3

2 

7. List two conditions which need to be satisfied for the work to be done on an object ? 2 

8. Calculate the number of Aluminium ions in 0.051g of Al2O3. (Atomic mass of

(Al  27u, O16u No6.0221023 mol1)

0.051g  Al2O3

Al  27u, O16u, No6.0221023

3 

9. What are isotopes ?  Write 3 isotopes of hydrogen. Why do isotopes show similar chemical

properties ?

3 
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10. (a) Explain Bohr and Bury rules for distribution of electrons into different shells. 

(b) Draw the electronic structure of  element X with atomic number 17 and element Y

with atomic number 16 ?

(a) 

(b) X 17 Y 16 

3 

11. Differentiate between Bryophyta and Pteridophyta. Give one example of each. 3 

12. Classify following organisms based on presence of true Coelom.

Spongilla, planaria, scorpion, birds, Ascaris, Neries.

3 

13. Write the symptoms when following organs are targeted by microbes.

(a) Lungs (b) Liver (c) Brain.

(a) (b) (c) 

3 

14. (i) When an object is immersed in a fluid, name the two forces acting on it ? 

(ii) On which factor the magnitude of the upward force acting on this object depends ?

(iii) When will this object sink ?

(i) 

(ii) 

(iii) 

3 

15. Define 1 Watt of power. A lamp consumes 1000 J of electrical energy in 10s. Calculate its

power.

1000 J 10s 

 3 

16. How much work should be done on an object of 120 kg to increase its speed from 25 m/s to

40 m/s ?

120 kg 25 m/s  40 m/s 

3 

17. A sound wave travels at a speed of 399 m/s. If its wave length is 1.5 cm. What is the

frequency of the wave ?  Will it be audible ?

399 m/s 1.5 cm 

3 
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18. What are the two forms of oxygen found in the atmosphere ? What is their importance ? 3 

19. (i) Name two biologically important compounds that contain both oxygen and 

nitrogen. 

(ii) What is the role of nitrogen fixing ‘bacteria’ ?

(i) 

(ii) 

3 

20. (i) What do the following symbols formulae stand for : 

(a) 2O (b) O2 (c) O3 (d) H2 O

(ii) Give the chemical formulae of the following compounds :

(a) Potassium Carbonate (b) Calcium chloride

(iii) Calculate the formulae unit mass of Al2 (SO4)3

(Given atomic mass of Al – 27u, S – 32u, O – 16u)

(i) 

(a) 2O (b) O
2

(c) O
3

(d) H
2
O

(ii) 

(a) (b) 

(iii) Al2 (SO4)3

 Al  27u, S  32u, O  16u

5 

OR/

(i) Write  the chemical symbols of two elements

(a) Which are formed from the first letter of the elements’ name.

(b) Whose name has been taken from the names of the elements in Latin

(ii) Define Avogadro’s constant and molar mass. How are they related to one mole of

an atom, molecule, or  ion ?

(i) 

(a) 

(b) 

(ii) 

21. Name the five classes of vertebrates. Compare any two on the basis of their :

(i) Habitat (ii) Covering of skin

(iii) Respiratory organs (iv) Chambers of heart (v) Reproduction

(i) (ii) 

(iii) (iv) (v) 

5 
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OR/

(i) To which division of plantae do algae belong ?  Write one characteristic of the

division. Give two examples.

(ii) Name the group :

(a) Which includes unicellular eukaryotic organisms

(b) In which mode of nutrition is saprophytic.

(c) In which seeds are not closed in fruit.

(iii) Classify flowering plants on the basis of the number of cotyledons present in the

seed ?

(i) 

(ii) 

(a) 

(b) 

(c) 

(iii) 

22. (i) A light and a heavy object have the same momentum. What is the ratio of their 

kinetic energies ?  Which one has a larger kinetic energy ? 

(ii) A ball is dropped from a height of 10m. If the energy of the ball reduces by 40%

after striking the ground, how much high can the ball bounce back ?

(g  10ms2)

(i) 

(ii) 10 m  40% 

(g  10ms2)

5 

OR/

(i) State the law of conservation of energy.

(ii) Show that the energy of a freely falling body is conserved.

(i) 

(ii) 

23. (i) How the sound propagates through the medium ? 

(ii) Show a sound wave in graphic form and mention crest, trough, wave length and

amplitude of the wave in it.

(iii) Why the sound waves are called longitudinal waves ?

(i) 

(ii) 

(iii) 

5 
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OR/

(i) Which property of sound wave determines :

(a) Loudness (b) pitch

(ii) A SONAR station picks up a return signal after 3 seconds. How far away is the

object ? (Speed of sound in water is 1440 m/s)

(iii) How can reverberations in a big hall or auditorium be reduced ?

(i) (a) (b) 

(ii)  3

1440 m/s

(iii) 

24. (a) Give a schematic diagram of Carbon cycle in nature. State the importance of carbon 

cycle. 

(b) What is green house effect ?

(a) 

(b) 

5 

OR/

(a) What makes the biosphere dynamic but stable system ?

(b) Draw a labelled diagram to show the oxygen cycle in nature.

(a) 

(b) 

5 

SECTION - B / 

25. While verifying the law of conservation of mass in a chemical reaction using a precipitation

reaction, Savita carried out the following procedure :

(i) Dissolved the required quantities of BaCl2 and Na2SO4 in distilled water taken in

two separate beakers.

(ii) Determined the mass of both solutions separately.

(iii) Mixed both solutions in a third beaker, using a glass stirrer.

(iv) Determined the mass of white precipitate formed after mixing both the solutions

The wrong step in the procedure is : 

(a) Step (i) (b) Step (ii) (c) Step (iii) (d) Step (iv)

(i) BaCl2 Na2SO4

(ii) 

(iii) 

(iv) 

1 
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(a) (i) (b) (ii) (c) (iii) (d) (iv)

26. Barium Chloride reacts with sodium sulphate to form Barium sulphate and sodium

chloride. In an experiment 20.8g of Barium Chloride reacted with 14.2g of sodium sulphate

to form 11.7g of sodium chloride. The amount of Barium sulphate formed in the above

reaction will be :

(a) 35 g (b) 23.7 g (c) 23.3 g (d) 23.0 g

 20.8 g  14.2 g 11.7 g 

(a) 35 g (b) 23.7 g (c) 23.3 g (d) 23.0 g

1 

27. Four students observed the given specimen carefully and recorded its one adaptive feature

and phylum as given below. The correct identification of the adaptive feature and phylum

of the given animal is :

(a) Moist and slimy skin, Arthropoda (b) Moist and slimy skin, Annelida

(c) Streamlined body, Platyhelminthes (d) Streamlined body, Annelida

1 
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(a) (b) 

(c) (d) 

28. Four students observed the specimens of two plants and sketched them as shown below.

They noted in their notebook the identification and the names of the group to which these

plants belong as given below. The correct identification is :

(a) A – moss ; Bryophyta

B – fern ; Pteridophyta

(b) A – pine ; Gymnosperm

B – leafy plant ; Angiosperm

(c) Both A and B are moss and belong to Bryophyta

(d) Both A and B are ferns and belong to Pteridophyta.

1 
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(a) A –

B –

(b) A –

B –

(c) A  B 

(d) A  B 

29. Najma observed the specimen of a bony fish and pigeon and sketched them as shown

below. She put them in the same phylum. The feature that places them in the same phylum

is :

(a) pointed head (b) bulky thorax

(c) presence of seales (d) post anal tails

(a) (b) 

(c) (d) 

1 

30. After observing the specimen of a plant four students sketched it as shown below and

identified the division of the plantae kingdom to which it belongs. The correct

identification is :

1 
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(a) Pteridophyta (b) Bryophyta (c) fungi (d) algae

(a) (b) (c) (d) 

31. After observing specimens of two flowers A and B four students reported their conclusions

about the groups of plants to which these flowers belong. The correct reporting is :

A B 

(a) Both A and B are flowers of dicot plants.

(b) Both A and B are flowers of monocot plants.

(c) A is flower of monocot plant and B is flower of dicot plant.

(d) A is flower of dicot plant and B is flower of monocot plant.

A  B

1 
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A B 

(a) A  B 

(b) A  B 

(c) A  B 

(d) A B 

32. Four students represented the sequence of developmental stages during the life cycle of a

mosquito as given below. The correct sequence is :

(a) egg, larva, pupa, adult. (b) egg, pupa, larva, adult.

(c) larva, egg, pupa, adult. (d) pupa, egg, larva, adult.

(a) (b) 

(c) (d) 

1 

33. While determining the density of solid by using a spring balance and a measuring cylinder,

the correct way of reading the liquid level is shown in figure :

(a) A (b) B (c) C (d) D

1 
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(a) A (b) B (c) C (d) D

34. The mass of a solid iron cube of side 4 cm is to be determined. Of the four spring balances

available, the one best suited for this purpose would have :

(a) range  0 to 100 g, and least count  1 g.

(b) range  0 to 100 g, and least count  5 g.

(c) range  0 to 1000 g, and least count  10 g.

(d) range  0 to 1000 g, and least count  25 g.

4 cm 

(a)  0  100 g,  1 g. 

(b)  0  100 g,  5 g. 

(c)  0  1000 g,  10 g. 

(d)  0  1000 g,  25 g. 

1 

35. The spring balance shown here is used to measure the mass of a given solid. The mass of

the solid is :

(a) 115 g (b) 118 g (c) 120 g (d) 125 g

1 
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(a) 115 g (b) 118 g (c) 120 g (d) 125 g

36. A metal ball is hanged from the hook of a spring balance. The ball is first kept in air, then

fully immersed in tap water and then immersed in salty water. The readings of the spring

balance will be :

(a) Maximum in air and minimum in tap water

(b) Maximum in air and minimum in salty water

(c) Minimum in air and maximum in tap water

(d) Minimum in air and maximum in salty water

(a) 

(b) 

(c) 

(d) 

1 

37. To compare the pressure exerted by a cuboid, a student was given four cuboids. Two

cuboids are made of iron of dimensions 20 cm x 15 cm x 10 cm and 15 cm x 10 cm x 5 cm

respectively. The other two cuboids are made of aluminium of dimensions 20 cm x 15 cm x

10 cm and 15 cm x 10 cm x 5 cm respectively. To perform the experiment effectively the

student should use :

(a) aluminium cuboid of dimension 20 cm x 10 cm x 5 cm.

(b) aluminium cuboid of dimension 15 cm x 10 cm x 5 cm.

(c) iron cuboid of dimension 15 cm x 10 cm x 5 cm.

(d) iron cuboid of dimension 20 cm x 10 cm x 5 cm.

20 cm15 cm10 cm 15 cm10 cm5 cm 

20 cm15 cm10 cm  15 cm10 cm5 cm 

(a)  20 cm10 cm5 cm 

1 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


Page 15 of 17 

(b)  15 cm10 cm5 cm 

(c) 15 cm10 cm5 cm  

(d) 20 cm10 cm5 cm  

38. To compare the pressure exerted by a cuboid, Neha was given four solid cuboids made of

plastic, wood, aluminium and brass. The dimensions of each cuboid are 15 cm x 10 cm x 5

cm :

To perform the experiment effectively she should choose.

(a) plastic cuboid (b) aluminium cuboid

(c) brass cuboid (d) wooden cuboid.

 15 cm10 cm5 cm 

(a) (b) 

(c) (d) 

1 

39. While verifying the laws of reflection of sound Arun heard the sound of watch clearly

through tube T2. If the tube T2 is turned through 10 away from the screen RS, then to hear

the clear sound again through this tube he should turn the :

(a) tube T1through 10 away from the screen RS.

(b) tube T1through 10 towards the screen RS.

(c) screen RS through 10 away from the tube T2.

(d) reflecting surface PQ through 10 towards the tube T1.

T2

T2 RS 10

(a) T1 10 RS (b) T1 10 RS

1 
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(c) RS 10 T2 (d)  PQ  10 T1

40. To verify the laws of reflection of sound, Zubeda sets up her apparatus as shown in the
given diagram. Her experiment will be performed successfully if the :

(a) reflecting surface is a cemented wall and screen is a foam padded board.
(b) reflecting surface is a foam padded board and screen is a cemented wall.
(c) reflecting surface is a sheet of white cloth and screen is a wooden board with many

holes in it.
(d) reflecting surface is a wooden board with many holes in it  and screen is  a sheet of

white cloth.

(a) 

(b) 

(c) 

(d) 

1 

41. A strong transverse horizontal pulse, created at one end of a string, is observed to complete

5 journeys along  its length, before fading out. The initial reading of the stop clock used in

the experiment was 5 s and the final reading was 55 s. If the length of the string for one

journey is L metre, the speed of the pulse, through the string is :

(a) (L/55) ms1 (b) (L/50) ms1

(c) (L/11) ms1 (d) (L/10) ms1

 5 

 5 s 55 s 

L 

1 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


Page 17 of 17 

(a) (L/55) ms
1 (b) (L/50) ms

1

(c) (L/11) ms
1 (d) (L/10) ms

1

42. The following apparatus is available in a laboratory :

(A) Thick silk string

(B) Thin silk string

(C) Thick cotton string

(D) Thin cotton thread

(E) A stop clock

(F) A table clock

A student can do his experiment, to determine the speed of a pulse through a stretched

string by choosing the apparatus labelled as :

(a) A and F (b) B, E and F (c) C and E (d) D and F

(A) 

(B) 

(C) 

(D) 

(E) 

(E) 

(a) A  F  (b) B, E  F (c) C  E  (d) D  F 

1 
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